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(Question): ____________ acts as an interface between applications and hardware. 

 

(A): Operating System 

(B): Application Software 

(C): Database Software 

(D): Web Software 

 

(Correct): A 

 

 

(Question): Which one of the following is a major goal of an Operating System? 

 

(A): Uploading files to the web server 

(B): Allocating memory for the program 

(C): Loading a web page in the browser 

(D): To connect computers together 

 

(Correct): B 
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(Question): Which type of file structure is used by UNIX? 

 

(A): Encrypting File System 

(B): Complex File Structure 

(C): New Technology File System 

(D): Hierarchal File Structure 

 

(Correct): D 

 

 

(Question): Which one of the following is a feature of UNIX? 

 

(A): Single User System 

(B): Single Tasking 

(C): Portability 

(D): Encrypting File System Support 

 

(Correct): C 

 

  

(Question): What is the purpose of the shell? 

 

(A): The shell keeps the end users from accessing the kernel for security reasons. 

(B): The shell protects the kernel from the shortcomings of the user. 

(C): The shell allows the user to do things that the kernel could not 

accommodate. 

(D): All of above 

 

(Correct): B 
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(Question): Which type of language is used by kernel to communicate with the 

hardware? 

 

(A): Machine Language 

(B): Programming Language 

(C): Structured Query Language 

(D): Spanish Language 

 

(Correct): A 

 

 

(Question): Which type of file system stores accounting information like the 

Number of blocks allocated? 

 

(A): Boot Block 

(B): Super Block 

(C): Data Block 

(D): Inode Block 

 

(Correct): B 

 

 

(Question): Which one of the following is not one of the three general 

components of the Unix Operating System? 

 

(A): Kernel 

(B): Shell 

(C): GUI 

(D): File System 

 

(Correct): C 

 


